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Grade Point -

Numerical Value of the Grade carned in a subject multiplied by
the number of the credits carried by the course.

Average Grade Point -Total grade point earned in a semester divided by total credits
offered.
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Ci= number of credits of the ith course in jth
SGPA (Si) = T (CixGi . semester,
i) (CixGi)/ > ci Gi = grade point scored by the student in the ith
L . cource in jth semester.
CGPA = Z (CjxSj)/ Z Cj

Sj = SGPA of the jth semester.
Cj = Total number of credits in the jth semester.
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F- Fail
S- Satisfactory
NS - Non-Satisfactory
NG- Non-Gradial
GPA - Grade Point Average
SGPA - Semester Grade Point Average
CGPA - Cumulative Grade Point Average
OGPA-

Over All Grade Point Average
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